METRIC DOT "PUSH-IN" AIR ERAKE FITTING

MFQ6BPXDOT - Male Connector

i O

Part Number

MFOEeEDOTEO2
MFOEBDOTE0S
MFOBEDOTEDE
MFQ68DOTE08
MFQ68DOTE02
MFQB8D0TS04
MFEQEEDOTEDS
MFQEBDOT1004
MFQEBDOTL006
MFQB8DOT1008
MFQEBDOT1204
MFQEBDOT1206
MFQE8DOT1208

FQ6BDOT - Male Connector

Wo

Part Number

FQEBDOTO4M12
FQE6BDOTO6M12
FQeEDOTOGM14
FQBEDOTOGMI1G
FQ6EDOTOGM22
FQeEDOTOEM16

MFQ&68BDOT - Male Connector

o

Part Number
MFQEEDOTEM10
MFOQEEDOTEM12
MFOGEDOTEM1S
MFQ&2DOTEM16
MFQEEDOTEM22
MFQEEDOTEM10
MFQE8DOTEM12
MFQ&EDOTEM14
MFQ63DOTEM16
MFQ68DOTEM22

MFQE8DOT10M10
MFQ68DOT10M12
MFOEEDOT10M14
MFQGEDOTIOMI1G
MFQE8DOT10M22

Tube 0.D. (mm)

Tube 0.D.
1/4"
3/g"
3/8"
3/8"
3/8"
1/2"

Tube 0.D. (mm)

=
e85 B8885

Pipe Thread
1/8"
1/4"
3/8"
1/2"
1/8"
1/4"
3/8"
1/a"
3/s"
1/2"
1/4"
3fs"
1‘f2|r

Pipe Thread (mm)
M12x1.5
M12x1.5
Mldx1l.5
Mlex1.5
M22x1.5
M16x1.5

Pipe Thread (mm)
M10x1.0
M12x1.5
Mldaxl.5
M1Ex1.5
M22x1.5
M10x1.0
M12x1.5
M14x1.5
M16x1.5
M22x1.5
M10x1.0
M12x1.5
Midx1.5
Mlex1.5
M22x1.5



MFQ68BDOT = Male Connector

Part Number Tube 0.D. (mm) Pipe Thread (mm)
MFQ6EDOT12M12 12 M12x1.5
“fﬂ MFQBEDOT1ZM14 12 M14x1.5
.L MFOQBEEDOT12ZMI1E 12 Mlexl.5
MFOEEDOT1ZM22 12 M22x1.5
MFOEEDOT16M1E 16 Mlexl.5
MFOBEDOT1EM2Z2 16 M22x1.5

MFQ&68DOT — Male Connector

Part Number Tube 0.D. (mm) Pipe Thread (BSPT)
@ MFQ6EDOTEOARK 6 1/a"
Wo == : "%
MFQG6EDOTE0ERK 8 1/2"
MFQ&6E8DOT1206RK 12 /8"
MFQOeBDOTI120ERK 12 12"

MFQ&62DOT — Tubing Union

Part Number Tube 0.D. (mm)
MFQ62D0T4 4
MFQ62DOTE 8
MFOe2ZDOTY 5
MFOBZDOTI1O 10
MFQO62DOT11 11
MFQO62DO0T12 12
MFOBZDOT15 15
MFQ&2DOT16 16
MFQ&64DOT —Union Tee
Part Number Tube O.D. (mm)
- MFQ64DOTE g4
MFOeADOTE B
MFQ&4DOTE B
MFOB4DOT1O0 10
MFOeADOT12 12

MFOGE4DOTI1E 16



ETRIC SWIVEL "PUSH-IN" AIR ERAKE FITTI
MFQ69DOTS —90 "Male Elbow, Swivel

Part Number Tube 0.D. (mm]) Pipe Thread NPTF
MFQE9DOTSE02 6 1/8"
MFQE9DOTS604 6 1/4"
MFQE9DOTSE06 6 3/
MFQE9DOTSE08 3 1/2"
MFQE9D0OTSS04 8 1/a"
MFQE9DOTS806 8 3/8"

MFQEIDOTS1004 10 1/4"
MFQEIDOTS1006 10 3/8"
MFQEIDOTS1008 10 1/2"
MFQEIDOTS1204 12 1/4"
MFQE3DOTS1206 12 3/8"
MFQE3DOTS1208 12 1/2"

FQ69DOTS —90 Male Elbow, Swivel

Part Number Tube O.D. Pipe Thread NPTF
FQE9DOTS06M12 3/8" M12x1.5
FQEIDOTS06M14 3/8" M14x1.5
FQE9DOTS06M16 3/8" M16x1.5
FQE9DOTS06M22 3/8" M22x1.5

MFQ&69DOTS —90 Male Elbow, Swivel

Part Number Tube 0.D. (mm) Pipe Thread (mm)
MFQe3DOTS6M10 6 M10x1.0
MFQ690D0TSEM12 6 M12x1.5
MFQ6E9D0TSEM16 6 M16x1.5
MFQEIDOTSEM22 6 M22x1.5
MFQ69D0TSEM12 8 M12x1.5
MFQ69DOTSEM16 8 M16x1.5
MFQE9DOTSEM22 8 M22x1.5

MFQe9DOTS10OM12 10 M12x1.5



MDQ69DOTS 90 Male Elbow, Swivel

Part Number Tube 0.D. (mm) Pipe Thread (mm)
MFQE9DOTS10M16 10 M16x1.5
MFQe9DOTS10M22 10 M22x1l.5
MFQEeSDOTS12M12 12 M12x1.5
MFQ&9DOTS12M16 12 M16x1.5
MFOGE9DOTS12M22 12 M2xl.5
MFQE9DOTS16M22 16 M22x1.5
Metric Plugs
Part Number Part Size
MF12P M1z
MF16P Mle
MF22P m22
Sealing Washers
Part Number Part Size
Y N~ MF125 Mi2
( NS MF16S M16
MF225 ma22
Adaptors
Part Number Part Size
MF12-1/4A M12 Male x 1/4 Female
TBA M14 Male x 3/8 Female
MF16-1/4A M16 Male x 1/4 Female
- MF16-3/8A M16 Male x 3/8 Female
MF16-22 M16 Male x M22 Female
-—s MF22-1/2R M22 Male x 1/2 Female
MF22-3/8R M22 Male x 3/8 Female
MF22-1/4R M22 Male x 1/4 Female
MF3/8x16mm M16 Female x 3/8 Male
TBA M22 Female x 1/2 Male

MF22F

22 Sockets



IMPERIAL DOT "PUSH-IN" AIR ERAKE FITTIN
268PXDOT — Male Connector

Part Number Tube O.D. Pipe Thread
968-2.5-1PXDOT 5/32" 1/16"
968-2.5-2PXDOT 5/32" 1/8"

968-4PXDOT 1/4" 1/8"

968-4-4PXDOT 1/4" 1/4"
968-4-6PXDOT 1/4" 3/8"
968-6-2PXDOT 3/8" 1/8"
968-6PXDOT 3/8" 1/4"
968-6-6PXDOT 3/8" 3/8"
968-6-8PXDOT 3/8" 1/2"
968-8-4PXDOT 12" 1/4"
968-8PXDOT 1fz" 3/8"
968-8-8PXDOT /2" 1/2"
968-10-6PXDOT* 5/8" 3/8"
968-10PXDOT* 5/8" 1/2"
968-12-8PXDOT* 3/4" 1/z"

9269PXDOT - Male Elbow 90°

Part Number Tube 0.D. Pipe Thread
969-2.5-2PXDOT 5/32" 1/8"
969-4PXDOT 1/4" 1/8"
969-4-4PXDOT 1/4" 1/4"
969-4-6PXDOT 1/4" 3/8"
969-6-2PXDOT 3/8" 1/8"
969-6PXDOT 3/8" 1/4"
969-6-6PXDOT 3/8" 3/8"
969-6-8PXDOT 3/8" 1/2"
969-8-4PXDOT 1/2" 1/4"
969-8PXDOT 1/2" 3/8"
969-3-8PXDOT 1/2" 1/2"
969-10-6PXDOT* 5/8" 3/8"
969-10PXDOT* 5/8" 1/2"
969-12-8PXDOT* 3/4" 1/2"

262PXDOT - Tubing Union

Part Number Tube 0.D.
962-2.5PXDOT 5/32*
m 962-4PXDOT 1/4"
962-6PXDOT 3/8”
962-8PXDOT 1/2"
962-10PXDOT* 5/8"

*Indicates special item with extended lead time.



972PXDOT - Male Branch Tee
Part Number
T - - T aT2-4PXDOT
',E 972-4-4PXDOT
— 972-6PXDOT
9r2-6-6PXDOT

972-8-4PXDOT*
972-8PXDOT

970PXDOT - Female Elbow 90"
Part Number

\ 970-4PXDOT
970-4-4PXDOT
970-4-6PXDOT*
970-6PXDOT
970-6-6PXDOT

970-8-8PXDOT*

9265PXDOT - Female Union Elbow 90°

Part Number

965-4PXDOT

965-6PXDOT

965-BPXDOT

966PXDOT — Female Connector
Part Number

966-2.5-2PXDOT*
966-4PXDOT
966-4-4PXDOT

966-6PXDOT
966-6-6PXDOT

966-8PXDOT*
966-8-8PXDOT*

Tube 0.D.
1/a"
1/4”
mrr
3/8"
1/2"
1/2"

Tube 0.D.
1/4"
1/4"
1/4"
3/8"
3/8"
1/2"

Tube 0.D.
5/32"
1/4"
1/4"
3/8"
3/8"
142"
/2"

Tube 0.D.
1/4"
3/8"

/e

Pipe Thread
1/8"
1/4"
1/4"
3/8"
1/8"
3/8"

Pipe Thread

1/8"
1/4"
3/8"
1/4"
3fg”
1/2"

Pipe Thread
1/8"
1/8"
1/4"
1/4"
3/8"
3/g"
1/27



982PXDOT - Bulkhead Union
Part Number

982-4PXDOT

W 982-6PXDOT

982-8PXDOT
982-10PXDOT*

964PXDOT —=Union Tee
Part Number

“ﬂ 964-4PXDOT

964-6PXDOT

964-8PXDOT
964-10PXDOT*

977PXDOT —Female Branch Tee
Part Number
977-aPXDOT*
977-4-4PXDOT*

977-6PXDOT*
977-6-6PXDOT*

971PXDOT -Male Run Tee
Part Number
971-4PXDOT*
971-4-4PXDOT*
971-6PXDOT*
971-6-6PXDOT*

971-8PXDOT*

Tube 0.D.
1/a"
3/a8"
1/2"
5/8"

Tube 0.D.
1/4"
1/4"
3/8"
ifa”

Tube 0.D.

1/4"
1/4"
3/8"
3/8"
12"

Thread
1/2-207
5/8-18"
3/4-16"
15/16-16"

Tube 0.D.
1/a"
38"
1/2%
5/8"

Pipe Thread
1/8"
1/4"
1/4"
3/8"

Pipe Thread
1/8"
1/4"
1/4"
3/8"
3/8"



980PXDOT -Male Elbow 45"

Part Number
980-4PXDOT
380-4-4PXDOT
980-6-2PXDOT*
980-6PXDOT
980-6-6PXDOT*
980-6-3PXDOT*
980-8-4PXDOT*
980-8PXDOT*
980-8-8PXDOT*
980-10PXDOT*

nr

969PXDOTS —90 "'Male Elbow, Swivel

Part Number

969-2.5-2PXDOTS

965-4PXDOTS
969-3-4PXDOTS
269-4-6PXDOTS
969-6-2PXDOTS

965-6PXDOTS
969-6-6PXDOTS
969-6-8PXDOTS
969-8-4PXDOTS

969-BPXDOTS
969-8-8PXDOTS

969-10-6PXDOT5*

969-10PXDOTS*

969-12-8PXDOTS"
969-12-12PXDOTS*

Tube 0.D.
1/4"
1/4"
3/8"
3/8"
/8"
/8"
1/2*
1/2"
/2"
5/8"

Tube 0.D.
5/32"
1/a"
1/4"
1/4"
3/8"
3/8"
3fe"
3/8"
12"
1/2"
12"
5/8"
5/8"
3fa"
3fa”

Pipe Thread
1/8"
1/4"
1/8"
1/4"
3fs"
1/2"
1/4"
3fg"
1/2"
12"

Pipe Thread
1/8"
1/8"
1/4"
3/8"
1/8"
1/4"
3/8"
1/2"
1/4"
3/8"
1/2"
3/8"
1/2"
1/2"
3/a"



971PXDOTS —Male Run Tee, Swivel
Part Number
971-4PXDOTS*
971-4-4PXDOTS*
971-6PXDOTS*
971-6-6PXDOTS*
971-8PXDOTS*
971-8-8PXDOTS"

972PXDOTS —Male Branch Tee, Swivel
Part Number
972-4PXDOTS*
972-4-4PXDOTS*
972-6PXDOTS*
972-6-6PXDOTS*
972-8-4PXDOTS*
972-BPXDOTS*
972-8-8PXDOTS*

977PXDOTS —Female Branch Tee, Swivel
Part Number
977-4PXDOTS

977-4-4PXDOTS

977-6PXDOTS

Tube 0.D.
1/4"
1/a"
3/8"
3/8"
1/2"
1/2"

Tube O.D.
1/4"
1/4"
3/8"
3f8"
1/2"
1/2"
1/2"

Tube 0.D.
1/a"
1/4"
3/g"

Pipe Thread
1/8"
1/4"
1/4"
3/8"
3/8"
1/2"

Pipe Thread
1/8"
1/4"
1/4"
3/8"
1/4"
3/8"
1/2"

Pipe Thread
1/8"

4 Fam



980PXDOTS —45 "Elbow, Swivel
Part Number

980-4PXDOTS*
980-4-4PXDOTS*
980-6-2PXDOTS*

980-6PXDOTS*
980-6-6PXDOTS*
980-8-4PXDOTS*

980-8PXDOTS*
980-8-8PXDOTS*
980-10PXDOTS*

959PXDOT - Nylon Plug
Part Number
959-2.5PXDOT*
IMAGE 959-4PXDOT*

959-6PXDOT"
959-8PXDOT"

9283PXDOT - Glad-hand Bulkhead Stud

Part Number
983-6-8PXDOT
nﬂ L]
IMAGE 983-6-BPXDOTL
983-8-8PXDOT
983-8-8PXDOTL**

28w dl=atas lane body leneth og 7 & 75719

Tube 0.D.
1/4"
1/4”
3/s"
3/8"
3/a8”
1/2"
1/2"
1/2"
5/8"

Tube 0.D.
3/8"
3/8"
1/2"
1/2"

Tube 0.D.
5/32"
1/a"
afs”
mu

Pipe Thread
1/8"
1/4"
1/8"
1/4"
3fs"
1/4"
3fs"
1/2"
1/2"

Thread
1/2"
1f2"
/2"
1/2"



FITTIN
Hose Tail Barbs

"

Reducing Bush

.

Part Number

125-4-4
125-6-2
125-6-6
125-6-8
125-8-4
125-8-6
125-8-8

Part Number

731522
73152-4
73152-6
73152-8

73152-12

Part Number

73220-4-2
73220-6-2
73220-6-4
73220-8-2
73120-8-4
73220-8-6
73220-12-6
73220-12-8

Part Size

(Hose x Thread]

1/4"x1/a"
3/8"x1/8"
3/8"x3/8"
3/8"x1/2"
1/2"x1/4"
1/2"x3/8"
1/2"x1/2"

Part Size
1/8*
1/a"
3fe”

3/4"

Part Size
1/4"x1/8"
3/8"x1/8"
3/8"x1/4"
1/2"x1/8"
1/2"x1/a"
1/2"x3/8"
3/a"x3/8"
3fa"x1/2"



Sockets

Nipples

Male Female Elbow, 90"

Male Female Elbow, 45"

Part Number

73300-2
73300-4
73300-6
73300-8
73300-10

Part Number

733254
73325-6-4
73325-6
73325-8-4
73325-8-6
73325-12*
73325-12-8
63325-8*
63325-12*

Part Number

73400-2
73400-4
73400-6
73400-8

Part Number

73350-6

73350-8*

Part Size
1/8"
1/4"
3/8"
1/2"
3/q"

Part Size
14"
3/8"x1/4"
3/8"
1/2"x1/4"
1/2"x3/8"
3/a"
1/2"x3/4"
1/2"
3/4"

Part Size
e
1/a"
o
1/2"

Part Size
3/8"

/2"



Street Tee

Tee Block

Elbow Hose Barbs

AIR BRAKE HOSE ENDS

Hose Union

Part Number
73750-2
73750-4
73750-6

73750-8

Part Number
73700-4
73700-6
73700-8

Part Number

129-8-4
129-8-6
129-8-8

Part Number

HEG2-8

Part Number

HEGO-B

Part Size
1/8"
/4"
3/8"

Part Size
1/4”
3f8”
1/2*

Part Size
(Hose x Thread)

1/2"x1/4"
1/2"x3/8"
1/2"x1/2"

Tube Size

1/2"

/2"



Male Connector with Spring [For Rubber Hose)

Part Number
- T —_—
Spring Guard Nut
Part Number

ﬁ HES61-8
Spring
Part Number

Male Connector

Part Number
& HESG8-B-6
Swivel Connector
Part Number

W0 B
—— H HESE8-8-65W

Hose Size Pipe Thread

1/2" 3/8”

Tube Size

Tube Size

/2"

Tube Size Pipe Thread

1/2" 3/8"

Tube Size Pipe Thread

1/2" 3/8"



TRANSMISSION B
Male Elbow, 90"

-

Male Connector

-
3

FITTIN

Part Number

TF69-2-2

TF69-5/32-2

Part Number

TFe0-2

TF60-5/32

Part Number

TF62-2

TF62-5/32

Part Number
TF68-2-1
TF68-2-2

TF69-5/32-1

TF69-5/32-2

Tube Size Pipe Thread

1/8" 1/8"

5/32" 1/8"

Tube Size
1/8"

5/32"

Tube Size

1/8"

5/32"

Tube Size Pipe Thread

1/8" 1/16"
1/8" 1/8"
5/32" 1/16"

5/32" 1/8"





